orbelle.

347 Clinton street
Hempstead N.Y.11550
SEE MORE: www.orbelle.com
TEL: 516-481-1500

BUNK BED: BB302/33, BB302/39

g

WARNING !!!

Use on the top Bed a maximum 6" thick Matress

MADE IN VIETNAM




ASSEMBLY INSTRUCTION

ONE BAG OF HARDWARE WITH FOLLOWING:

\i/ Long Bolt \ﬁ Medium Bolt \i/ Short Bolt \i/ Barrel nuts \i/ Wooden plug
) I © ' @
1/4" x 95mm 1/4" x 60mm 1/4" x 20mm 29 x 15mm (1/4") 312 x 10mm
(16 pcs) (6 pcs) (6 pcs) (16 pes) (4 pcs)

\i/ Metal dowel

m Metal support 8

Ladder hooks

\i/ Short Screw

\ﬂ/ Long Screw

° N
Q. ) ’
= ®
210 x 90mm 3 x32x98mm 70 x 25 x 48mm @4 x 20mm @4 x 25mm

(4 pcs) (2 pcs) (4 pcs) (12 pcs) (40 pcs)

\ﬂ/ Allen Key
58 x 23 x 4mm
(1 pc)

PLEASE LOCATE AND CONFIRM YOU HAVE THE FOLLOWING PARTS:

w Headboard

\ﬂ Footboard

(2 pcs)

M Side rail Headboard \E Side rail Footboard

(2 pes)

(2 pcs)

\E/ Front Guard

(1 pc)

\ﬂ Back Guard

\E/ Ladder

\ﬂ Slats

(2 sets)




STEP 1, 2:

Put the Headboard (A) beside the wall and attach the side rail headboard (C) joining
to the headboard by Long bolt 1/4"x95 (1) and Barrel nuts (4) after that tinghten
bolts by allen key (11). Attach 4pcs metal dowels (6) into the holes joining bed.

58x23x4mm

210 x 90mm
X
~ 29 x 15mm
S
O—mmmmme | 1/4"x95mm
8X

STEP 3:
Joint the Footboard (B) with headboard bed as it
below the picture.




STEP 4:

Attach the side rail footboard (D) with Footboard (B) by Long bolt 1/4"x95 (1) and Barrel nuts (4) by allen

key (11) .Do not fully tighten bolts.

58x23x4mm

\ ~ @9 x 15mm
1 | e | {/4"Xx95mm
&® 4 8X
STEP 5, 6: STEP 5

Attach the back guard rails (F) and front guard rails (E) with Footboard using Mediu

bolt 1/4"x60 (2), and Metal support (7) using short bolt 1/4"x20 (3) by allen key
(11).Fully tighten bolts. e

X6

X2
1 58x23x4mm
1X
7 3x32x
98mm
3 1/4"x20mm
2 1/4"x60mm
X




=Y

(]
© g

ge left

70x25x48mm
@4 x 20mm
@4 x 25mm

STEP 9

4x
X

12X
40X

STEP 7

STEP 8

X4

Attach the ladder (G) with the bunk bed, using screws (9), ladder hooks (8) and

tighten by screwdriver (not provide) as the below picture.

STEP 7, 8:

8
9
10

—~.

Note: Ladder can chan

and right.

\
|
/

——

- ~.
/ N\
/
/ MW /

(O
>
|

N S —
’// ﬂ L

\ - /\
// //\\\\ ///

%

COMPLETE

Put slats (H) for each of bed and use
screws (10) and tighten all slats by

screwdriver (not provide)
as the below picture.
®

STEP 9




